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Chapter 2: Basic Data Analysis — Summary Statistics and Graphs
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Baye’s Problem

Example 1
a) Fillin the table using the information below

e Suppose that a known disease occurs in 2% of the population

¢ The medical test produces a positive reading on 99.5% of those infected with the disease
e Suppose that this test gives a positive result in heol?ﬁy patients 2% of the time

e Assume we have 100,000 random individuals who follow the above information perfectly

Has Disease Does Not Have Total
Disease
Test Positive | 4 q [®) (q 6O =
Test Negative ) QeU O
Total 2600 90y © 100,000
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Example 2

rTwo dice (one red and one green,! bre to be rolled. The sample space consists of the 36
outcomes listed below. The first number is what is rolled on the Red die and the second number
SW O’riyplled on the Green. Determine:
/ 1,1 1,2 1,3 1,4 1,5 1,6 Q) P(At least one of the dice is a )
2,1 2,2 23 2,4 2,5 2,6 X
3,1 3,2 3,3, 3,4 3,5 3,6

NER > ¢
41 4,2 4,3 44 45 4,6

b) P(Sum of the dice is equal to 7)
51 52 53 54 55 5,6
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c) P(Sum of the diceis 11 or more) —_—
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- 4
&¢

%(Redislorger’rhon@reen) = &‘w@r Na. % %2%\(0 N\ o

“lar

f)  P(Sum s greater than 9“ Qu.;‘\ e 6“2“3% S{Q\C’Jf\ g)

c
g) P(Red =) -

s Y3 ¢

h) P(Largest numberis a 5)
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ck of cards is shuffled and a card is drawn. Determine each of the following probabilities.
, a) The probabilit ce card is selected. b) Lg)robobili’ry that the card is not _E,’i-_w_
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Circuit Problems
Determine the probability that the circuit works given that the componen’r works
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